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<EXERCISE FIVE

Paper *1* Time| 2 hours

The line 2x + y = 1 intersects the curve % + % +3 =0 at two points A and B. Find the

distance between 4 and B, leaving your answer in surd form.

Find the range of values of k for which kx? + 8x + k < 6 for all real values of x.

Write down and simplify the first three terms in the expansion of (1 - g) , in ascending

powers of x. If the value of the second and of the third terms are -3 and % respectively,

find the value of x and of n.

Given that x = sin8 + sin 28 and y = cos6 + cos 26 , show that

O +y) (F* +)*-3)=2y.

Given that x* + y? = 1, show that

log(l X + log(1 x= 2(log(1 +y)x) (log(l Ay)x)

If 2x2 — 5x— 3 is a factor of ax*— bx? — 13x — 6, find the value of a and of b. With these

values of a and b, factorise ax® — bx? — 13x — 6 completely.

x+1

_x)dx

x+1
Express ;2(1—) in partial fractions. Hence evaluate J'

Given that a and g are two varying acute angles such that a + g = 90°, find the

maximum value of sin a+ sin B and the corresponding value of a and of g.

(8) On the same diagram, sketch the graphs y = |sin x| and y = 1 + cos 2x
for the interval 0 < x < 2m. State the number of solutions to the equation

|sin x| — 1 = cos 2x, for 0 <x < 2.

(b) Find all the angles between — 180° and 180° inclusive which satisfy the equation
sin (2y — 30°) — cos 65° = 0.
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